
;DklQ s/sf] b/ 

s/of]Uo ;DklQ s/sf] aflif{s b/ 

kfrF nfv ?k}Fof ;Ddsf] d"NofÍgdf Ps d'i7 ?=@%=-krL;_ 

kfrF nfv Ps b]lv bz nfv ?k}Fof ;Dd  k|lt nfv ?=!) -? bz_  

bz nfv Ps b]lv la; nfv ?k}Fof ;Dd k|lt nfv ?=!% -? kGw|_ 

la; nfv Ps b]lv lt; nfv ?k}Fof ;Dd k|lt nfv ?=@) -? la;_ 

lt; nfv Ps b]lv  rfln; nfv ?k}Fof ;Dd k|lt nfv ?=@% -? klRr;_ 

rfln; nfv Ps b]lv krf; nfv ?k}Fof ;Dd k|lt nfv ?=#) -? lt;_ 

krf; nfv Ps b]lv krxQ/ nfv ?k}Fof ;Dd k|lt nfv ?=$% -? k}tln;_ 

krxQ/ nfv Ps b]lv Ps s/f]8 ?k}Fof ?k}Fof ;Dd  k|lt nfv ?=^) -? ;f7L_ 

Ps s/f]8 Ps b]lv Ps s/f]8 krf; nfv  ?k}Fof 

;Dd 

k|lt nfv ?=&% -? krxQ/_ 

Ps s/f]8 krf; nfv  Ps b]lv b'O{ s/f]8  ?k}Fof 

;Dd 

k|lt nfv ?=!)) -? ;o_ 

b'O{ s/f]8  Ps b]lv ltg s/f]8 ?k}Fof ;Dd k|lt nfv ?=!@% -? Ps ;o klr;_ 

ltg s/f]8 Ps b'lv rf/ s/f]8 ?k}Fof ;Dd k|lt nfv ?=!%) -? Ps ;o krf;_ _ 

rf/ s/f]8 Ps b]lv kfFr s/f]8 ?k}Fof ;Dd k|lt nfv ?=!&% -? Ps ;o krfxQ/_ 

kfFr s/f]8 Ps b]lv dfly k|lt nfv ?=@)) -? b'O{ ;o_ 

 

 

 

 

 

gf]6 M d"Nof+sg /sdnfO{ ? nfvdf (round figure)df kl/0ft u/L s/sf] b/ lgwf{/0f x'g]5 .  

dfly plNnlvt b/sf] cfwf/df nfUg] s/sf] pbfx/0f M 

d'Nof+sg nfvdf s/sf] b/ s/ /sd 

5 25 25 

10 10 100 

20 15 300 

30 20 600 

40 25 1000 

50 30 1500 

75 45 3375 

100 60 6000 

150 75 11250 

200 100 20000 

300 125 37500 

400 150 60000 

500 200 10000 

 



s_ hUuf tkm{ M dfnkf]t sfof{no ?kGb]xLn] /lhi6«];g kf; k|of]hgsf] lgldQ o; /f]lx0fL ufpFkflnsf If]qdf 

lgwf{/0f u/]sf] Go"gtd\ b//]6 sfod u/L hUufsf] d"NofÍg ul/g]5 . ;f] eGbf dfly b//]6 /fvL :jM3f]if0ff ug]{ s/ 

bftfsf] ;f]xL 3f]lift b//]6df d"NofÍg ul/g]5 . 

v_ 3/ hUuf tyf ef}lts ;+/rgf tkm{ M 

Plss[t ;DkQL s/ lgwf{/0f k|of]hgsf] nflu 3/ tyf ef}lts ;+/rgfx?sf] d"NofÍg b//]6 b]xfo adf]lhd jf ;f] 

3f]if0ff cg';f/ b]xfosf] b//]6df sd gx'g] u/L d"NofÍg ul/g]5 .  

 qm=;+= k|sf/ k|lt au{km'6 

d"NofÍg b/ 

x|f; s§L b/                     

-k|ltztdf_ 

s/sf] b/ 

1.  cf/=l;=l;=k|md :6Sr/ 500 1 0.1% 

2.  l;d]G6 hf]8fO{ O§f uf/f] / cf/=l;=l;= 5fgf] 

ePsf] 

400 2 0.1% 

3.  df6fsf] O§f uf/f] / cf/=l;=l;= 5fgf] ePsf] 300 3 0.1% 

4.  l;d]G6 hf]8fO{ O§f uf/f] / h:tf 5fgf] ePsf] 300 2 0.1% 

5.  df6f] O§f uf/f] / h:tf 5fgf ePsf]  200 3 0.1% 

6.  ;d]G6 hf]8fO{ O§f uf/f] / 6fon 5fgf] ePsf] 200 3 0.1% 

7.  df6f] O§f uf/f] / 6fon 5fgf] ePsf] 100 5 0.1% 
 

  

 

 

 


